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PLAYED AT: Peffermill

CARLTON CRICKET CLUB 3rd XI Vs Carlton 3rd XI

RESULT: Dunfermline Carnegie won by 4 wickets

ESCA Division 4

DATE: 30th April, 2011

STEEDMAN

INNINGS OF: Carlton 3rd XI BOWLING
Nolf Batsman [l How Out Fielder Bowler Rung] 6s || 4s It Bowler Overs[[Mdns]| Runs [[Wkts|| Nb
1 [Is Barrett [lBowled Murray 0 1 [IMurray 10f 1 39 2
2 A Fedenczuk [[Bowled \Walker 22 2 [wauchop 10]| 2 39 2
3 [l Newman [lcaught & Bowled Murray 127, 3 [lRoss 10 2 33 0
4 |l Beharrel [lBowled Wauchop 41 4 [lcallan 7 0 42 0
5 [lA MacPerson [[Not Out 11 5 [lwalker gl o 51 1
6 [[M Kennedy [lBowled Wauchop 9 6 [lPhilp 5 0 33 0
7 [IL Prescott [INot Out 9| 7
8 [b smith [[one ol g |l
9 [|Ic Gosain [one ol
10 |G Rittoo DNB ol
11[|D Carter DNB 0
Extras (3b, 4lb, 18w, Onb) 25
TOTAL [l(5wickets, 50 Overs) 244
INNINGS OF: Dunfermline Carnegie BOWLING
Nol| Batsman [l How Out Fielder Bowler Rund| 6s || 4s It Bowler Overs|[Mdng| Runs [|[Wkts|| Nb
1 [IM Honeyford [lBowled Kennedy 67 1 [|ISmith 9.5 2 50 0
2 |G philp [stumped  [[Fedenczuk [[Newman 106 2 [lcarter 10 3 27 |
3 [b Murray [lBowled Kennedy 11 3 [[Gosain 10 1 59 |
4 [Im callan [[Not Out 28 4 [Rittoo gl o a2 of
5 [IM wauchop [Bowled Kennedy 0 5 [[Beharrel 2 )| 22 0
6 [[m Philip [Run out  [[Newman/Fedenczuk 9l 6 [[Kennedy 7 of 21 3
7 [IN walker [[Run Out  [Rittoo/Smith ol 7 [INewman 3 0 23 1
8 [IG Ross [INot Out 15} 8 |l
9 [l Parsonage It of
10[) Lee Il ol
11 [ Honeyford It oll
[[Extras fli1b, 3Ib, 5w, 3nb) 12|
[roTAL [l(6wickets, 49.5 Overs) 2438|




